A & 0l & A

20128 =34 2 3| JIEtSEH & ™ (&)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
S Al 51,590,750 46,350,147 5,240,603 11.31%
ALY 41,222,169 36,576,022 4,646,147 12.70%
HWegs 10,287,991 9,693,535 594,456 6.13%
HE2HZH 80,590 80,590 0 0.00%
BEES 11,715,297 10,800,999 914,298 8.46%
oot - =2 7,505,297 6,430,999 1,074,298 16.70%
WL EEH 29 14,973 14,973 0 0.00%
=HNLEESH 2S (=ML ELSIH) 14,973 14,973 0 0.00%
Not=SE3 A2 864,000 629,702 234,298 37.21%
Not+=SL3H2S (Not=SE3A) 864,000 629,702 234,298 37.21%
Hegs(eagxy) 6,626,324 5,786,324 840,000 14.52%
UWERHHXES(=EHLESE3A) 6,626,324 5,786,324 840,000 14.52%
HOI2 4,210,000 4,370,000 160,000 A 3.66%
HIOISHM2AANEMNBSEIAH 2 4,210,000 4,370,000 A 160,000 A 3.66%
HIISXM2AEASEESH 2L (HIIE XM 4,210,000 4,370,000 160,000 A 3.66%
AEMNDESSIA)
NIE=PN 3,775,740 3,869,280 A 93,540 AN2.42%
IZdEEd 133,180 133, 180 0 0.00%
MRS (As =X ) 133,180 133,180 0 0.00%
BHNE(ASSHISZLESLEIA) 133,180 133, 180 0 0.00%
FAHSXEH 3,642,560 3,736,100 A 93,540 A2.50%
AESHISEESEIN 24 3,642,560 3,736,100 293,540 A 2.50%
AESZ2NHIISELEELINH 2L (Y=20II2 3,642,560 3,736,100 93,540 A2.50%
THEEFH)
=S5HWS 30,126,001 25,806,001 4,320,000 16.74%
SANEBE 30,126,001 25,806,001 4,320,000 16.74%
CANEBEAMY SE3H 2 30,126,001 25,806,001 4,320,000 16.74%
CANEEMNY SE3H 2L (TAECMLEEY 30,126,001 25,806,001 4,320,000 16.74%
313)
=EL XN 5,893,122 5,793,277 99,845 1.72%
KNS EA 5,893,122 5,793,277 99,845 1.72%
JIBLAIE S8 H 29 497,105 497,105 0 0.00%
IBFAIESE A 2 (JIBtAIESE3H) 497,105 497,105 0 0.00%
AL RE2ASEH 29 65,975 65,975 0 0.00%
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